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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 3843 3.6 0.9 4 90.1 99.9
1b 3797 1.1 0.7 2 53.3 98.7
2 3791 2.5 0.6 3 82.4 98.6

3a 3841 2.7 0.6 3 91.1 99.9
3b 3821 1.4 0.9 3 46.5 99.3
4a 3833 1.6 0.6 2 81.4 99.7
4b 3683 1.1 0.7 2 54.5 95.8
4c 3782 1.5 0.8 3 48.7 98.3
5a 3782 1.8 1 3 59.1 98.3
5b 3833 1.6 0.6 2 80.3 99.7
5c 3814 1.7 1.1 4 41.5 99.2
6a 3841 2.6 0.7 3 86.3 99.9
6b 3727 2.8 1.4 4 69.3 96.9
6c 3822 1.9 1.1 6 31.8 99.4
7a 3838 1.7 0.5 2 86.5 99.8
7b 3536 0.7 0.7 2 33.9 91.9
7c 3804 2.5 1.2 6 40.9 98.9
8a 3760 1 0.6 2 52.2 97.8
8b 3705 1.9 1.2 6 31.1 96.3
9 3796 2.9 1.4 8 35.9 98.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

Reference to healthy snacks and information on what a child should eat.
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Sticky Note

An attempt at discussing the need for regular mealtimes, implied reducing snacking and the importance of portion size to avoid obesity. Brief reference to balanced diet.



Sticky Note

Limited points made that have not been fully explained, therefore the mark of 4 was awarded.
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10.	


	 (a)	 A balanced diet should be introduced in early childhood.
		  Discuss ways in which healthy eating habits can be achieved.	 [10]
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Sticky Note

Answer has achieved 7 marks, several points have been identified and some developed but there is slight concentration of financial issues. A more balanced answer covering other effects, both positive and negative would allow access to the top mark band.
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Sticky Note

Answer has achieved full marks as the answer is well balanced and identified points have been developed with good justifications.



Sticky Note

Negative effects on the family have been discussed with clear reasons.
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Sticky Note

Candidate has started to indicate that having a child with special/additional needs can be a positive experience.
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Sticky Note

Both positive and negative effects on all members of the family have been fully discussed allowing access to the top mark band.
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10.	


	 (b)	 Some children have special/additional needs.
Discuss the possible effects on a family of having a child with special/additional needs.


[10]


Q10
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Sticky Note

Only 3 marks awarded, the question asks for what parents could do and not nurseries.
Last sentence referring to the PIES is not relevant for this question.
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Sticky Note

3 marks awarded, only three relevant points made, comment about bribing the child does not prepare the child for a stay in hospital and therefore was not awarded a mark.
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Sticky Note

Question achieved 4 marks as the candidate identified four good points that clearly show how the parent can prepare the child for a stay in hospital. The preparation must be done before the child is admitted and not what the parent does whilst the child is in hospital.
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5.	 (a)	 Name three common infectious diseases which children may catch. [3]


(i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(iii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(b)	 Identify two signs that a child may be feeling unwell.	 [2]


(i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(c)	 A 4-year-old child has to be admitted to hospital for an operation.
Describe ways a parent may prepare a child for a stay in hospital.	 [4]
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Sticky Note

Response has been awarded 2 marks as the candidate has identified a couple of basic points but has not developed them to explain how the development is encouraged.
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Sticky Note

Candidate has provided a few relevant points and has attempted to develop them, however the answer only just achieves 4 marks. A more balanced response is expected to gain higher marks.
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Sticky Note

5 marks. The candidate has provided some relevant points that have been developed. Work is reasonably balanced and well structured. Consideration of a couple more points would have enabled the candidate to achieve full marks.
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	 (c)	 Look at the picture of a climbing frame.


Explain how playing on this equipment can encourage a child’s physical development.
[6]
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Sticky Note

Awarded 1 mark only. This was awarded as the candidate has attempted to say that Gingerbread will give advice - someone to talk to.
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Sticky Note

Gingerbread do not offer Child Care, therefore this statement was not awarded any marks.
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Sticky Note

This response was awarded the 2 marks as the candidate has clearly described how Gingerbread can support one parent families.
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Sticky Note

2 marks were awarded as the candidate has identified two points that indicate how Gingerbread can support one parent families.
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7.	 Children can live in different types of families.


(a)	 State two reasons why some children live in a one parent family.	 [2]


(i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (b)	 Describe how the voluntary organisation Gingerbread helps support one parent families.   
[2]


(c)	 Discuss the benefits of having an extended family.	 [6]
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Sticky Note

Basic response that has been awarded 3 marks. Candidate has identified a couple of points and has attempted to provide an explanation.
Some points listed are not appropriate.
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